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1. If your nominal wage rises faster than the price level, then we can say your real wage has
and the purchasing power of your income has

© A)risen;risen  B)risen; fallen  C) fallen; risen D) fallen; fallen

2. Ifinflation in the U.S. is higher than inflation in other countries, what will be the effect on net
exports for the U.S.?
A) net exports will rise as U.S. exports increase
B) net exports will decrease as U.S. imports decrease
C) net exports will decrease as U.S. exports decrease
D) net exports will rise as U.S. imports decrease

3. If planned aggregate expenditures are below potential GDP, and planned aggregate expenditures
equal GDP, then »
A) the economy is at full employment.
B) actual inventory investment will be less than planned inventory investment.
" C) the economy is in a recession.
D) actual inventory investment will be greater than planned inventory investment.

4. Suppose the economy is at a short run equilibrium GDP that lies above potential GDP. Which of
the following will occur because of the automatic mechanism adjusting the economy back to
potential GDP? ' ,

A) Short-run aggregate supply will shift to the left.
B) Prices will decline.

C) Output will increase.

D) Unemployment will decline.

5. After an unexpected increase in the price of oil, the long-run adjustment the price
level and the unemployment rate as they return to their original levels.

A) decreases; increases B) increases; increases
C) increases; decreases D) decreases; decreases

6. If households in the economy decide to take money out of checking account deposits and hold it
as currency, this will initially : :
A) not change M1 and increase M2.  B) decrease M1 and not change M2.
C) decrease M1 and decrease M2. D) not change M1 and not change M2.

7. Ifthe U.S. dollar increases in value relative to other currencies, how does this affect the
aggregate demand curve?
A) This will move the economy down along a stationary aggregate demand curve.
B) This will shift the aggregate demand curve to the left.
C) This will shift the aggregate demand curve to the right.
D) This will move the economy up along a stationary aggregate demand curve.

8. Suppose the Fed decreases the money supply. In response households and firms will
short term assets and this will drive interest rates.

A)sell;up - B) sell; down C) buy; up D) buy; down
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9. An increase in government spending, as the price level rises,
A) decreases the interest rate, and consumption and investment spending decline.
B) increases the interest rate, and consumption and investment spending decline.
.C) decreases the interest rate, and consumption and investment spending rise.
D) increases the interest rate, and consumption and investment spending rise.

10. Crowding out, following an increase in government spending, results from (the exchange rate is
the foreign exchange price of the domestic currency).
A) lower interest rates and a lower exchange rate.
B) lower interest rates and a higher exchange rate.
C) higher interest rates and a higher exchange rate
D) higher interest rates and a lower exchange rate

11. Consider a tax cut which affects not only consumer disposable incomé but also after tax
earnings from labor supplied to labor markets and from financial assets acqulred through saving.
In the long run we would expect this tax cut to:
. A) increase the level of real GDP.
B) increase the price level.
C) increase both the price level and the level of real GDP
D) decrease both the price level and increase real GDP.

12. The price level in the economy between 2005 and 2006 rose from 100 to 105: Between 2006 and
2007, the price level rose from 105 to 110.25. Howdoes the short-run Phillips curve predict the
unemployment rate will change as a result?

A) The unemployment rate will decrease since inflation decreased.

B) The unemployment rate will not change since there is no change in the rate of inflation.
C) The unemployment rate will decrease since inflation increased.

D) The unempioyment rate will increase since inflation increased.

13. If a country has a fixed exchange rate,

A) central banks have more control over real GDP in the economy.

B) central banks must buy and sell their holdings of currencies to maintain a given exchange
rate.

C) the equilibrium exchange rate in that market does not respond to changes in supply and
demand for currency.

D) the equilibrium exchange rate is not allowed to fluctuate in response to changes in the
supply and demand for currency.

14. If the government finances an increase in government purchases with an increase in taxes, which
of the following would you not expect to see? '
A) an increase in the exchange rate BY'a decrease in the interest rate
C) a decrease in net exports D) an increase in aggregate demand

15. Ron's Desk Company expects to sell $10,000,000 worth of desks and to produce $10,500,000
worth of desks in the coming year. The company purchases $100,000 of new equipment during
the year. Sales for the year turn out to be $10,000,000. Actual investment by Ron's Desk
Company equals - and planned investment equals
A) $0; $100,000 B) $0; $600,000  C) $100,000; $600,000 D) $600,000; $600,000
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16. When the Federal Reserve reduces its inflation target, it sets a real interest rate at any
rate of inflation, which will consumption and investment spending at every level of
output.

A) higher; increase ' B) higher; decrease  C) higher; not change D) lower; increase

17. The price of good A falls and the demand for good B decreases. Goods A and B are
A) Cannot be determined
B) Substitutes
C) Complements
D)Normal goods

18. Suppose MRS, , =3 forall levels bf x and y.Goods x and y are

A)perfect substitutes.
B) perfect complements.
C)normal goods.
D) inferior goods.

19. Which of the following utility functions is an example of preferences for perfect complements?
A U(x,y)=xy
B) U(x,y) =min{2x, y}
C)U(x,y)=3x+5y
D) U(x,y) =2x" +4y

20. Suppose every automobile requires exactly one engine (E) and four tires (T). The production
function for this process is
A)Q=E+4T
B) Q=4E+T

~ C) Q0 =min(E,0.25T)
D) Q = min(4E,T)

21. Consider the Cobb-Douglas production function Q= 25K~/L . The average cost function
associated with this production technology will exhibit
A) economies of scale.
B) diseconomies of scale.

C) neither economies nor diseconomies of scale.
D)indeterminate scale economies since the level of output and the prices of the inputs are

unknown.

22. Suppose that a smoker and a non-smoker are seated next to each other in a restaurant. This
restaurant does not offer a non-smoking section. The smoker is indifferent between 1) smoking
and 2) not smoking and consuming a $6 dessert. The non-smoker values being able to eat in a
smoke-free environment at $10. Accordingto Coase’s Theorem, and assuming no bargaining
costs, what will happen? )

A) The smoker will continue to smoke because that is his right.
' B) The smoker will stop smoking, just to be a nice guy.
C) The non-smoker will offer to pay the smoker between $6 and $10 to stop smoking, but the
smoker will refuse because he has the right to smoke. . '
D) The non-smoker will offer to pay the smoker between $6 and $10 to stop smoking, and the
smoker will accept the money and refrain from smoking.
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23.

Suppose that a consumer’s demand curve for chocolate can be expressed as P=10- 207, and
suppose that the market is initially in equilibrium at a price of $4. Now suppose that the price
rises to $6. What is the change in consumer surplus?

A)An increase of 5. '

B) A decrease of 2.

C) A decrease of 4.

D)A decrease of 5.

24 The production function Q=KL exhibits

A)increasing returns to scale.
B) constant returns to scale.
C) decreasing returns to scale.
D)undefined returns to scale.
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Suppose in a market with 0’ =200-10P and QO =10P,the govemment imposes a price floor

of $15. If the govemment is required to purchase any surplus at the price floor, how much will
the government have to pay to purchase the surplus in this market?

The market for sweet potatoes consists of 1,000 identical firms. The market demand curve is
given by Q =402- P . Each firm has a short-run total cost curve of .STC =0.5+ 100Q*. How
much output will each individual firm supply? .

Suppbse that a market is initially in equilibrium. The initial demand curve is P =90- 0. The
initial supply curveis P = 2Q‘ Suppose that the government imposes a $3 tax on this market.
How much of this $3 tax is paid by consumers?

Suppose a monopolist faces demand P =300-6Q and has marginal cost MC =120+60 .
What price should this monopolist charge to maximize profit? .

. Suppose that Bill, George, and Al constitute the entire market for consumers of national defense.

* Each man has an identical demand curve for national defense, which can be expressed as

P =50-0. Suppose that the marginal cost for national defense can be expressed as MC =$30. -

What is the optimal quantity of national defense?

Suppose that a market is initially in equilibrium. The initial demand curve is P =100 0.

The initial supply curve is P =3Q°. Suppose that the government lmposes a $4 subsidy on this
market. What is the dead-weight loss due to the subsidy?

. Charlie consumes two goods, professional baseball games (B) and mystery novels (N). The price

of baseball games is P, ; the price of mystery novels is P, . Charlie has an income of I to spend

on these two goods. Charlie’s utility function can be represented as U = B>N . What is the
equation for the demand curve for baseball games?
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Please select one most appropriate answer in the following questions.

1. When conflict is resolved by compromise between the parties in conflict, this is known as:
A) functional conflict resolution

B) top-down change

C) bottom-up change

D) distributive negotiation

E) organizational politics

2. Which plan of the organization contains top management's decisions abott the organization's
mission, goals, strategy, and structure?

A) corporate-level plan

B) divisional-level plan

C) functional-level plan

D) business-level plan

E) departmental-level plan

3. A church targeting different demographic groups to increase attendance is an example of

A) for-profit marketing

B) not-for-profit marketing
C) mindless marketing

D) ethics in marketing

E) societal marketing

4. The component of an HRM system that focuses on attempting to attract and to hire employees
who have the abilities and experiences to help the ¢rganization.te achieve its goals is known as:
A) training. ' :

B) development.

C) recruitment and selection.

D) performance appraisal.

E) feedback.

5. An organization's culture is most like its:
A) structure

B) strategy

C) reward systems

D) personality

E) vision

6. According to path-goal theory, when leading creative workers, a manager should be:
A) supportive and critical

B) supportive and uncritical

C) hands-off and critical

D) hands-off and uncritical

E) directive
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7. A manager's characteristic way of speaking in terms of his tone of voice, use of questions, and
choice of words is an example of this manager's:

A) . noise.

B) linguistic style.

C) nonverbal communication.

D) information richness.

E) information distortion.

8. In XYZ Company, each product line is managed within a division. In each of these
divisions, the division manager is responsible for creating the business-level strategy for the
product line. What type of structure is the organization using?

A) geographic structure

B) market structure

C) product structure

D) functional structure

E) none of the above

9. The managers of an organization feel that the advertising message of one of their major
competitors is false and misleading. This is an example of:

A) intragroup conflict.

B) intrapersonal conflict.

C) intergroup conflict.

D) interorganizational conflict.

E) all of the above.

10. A sales manager for a Ford Motor Co. dealer evaluates each one of his sales staff monthly
on the basis of the number of new cars sold during the past month. This is an example of:,
A) asubjective appraisal.

B) situational testing.

C) personality testing.

D) ability testing.

E) an objective appraisal.

11. The sharing of information between two or more people within the organization in order to
reach a common understanding is known as: :

A) noise.

B) ' encoding.

C) communication.

D) filtering.

E) jargon.

12. In attempting to promote innovation in a work group, the supervisor of this work group
should do all of the following EXCEPT:

A) provide guidance to the group.

B) provide coaching to the group.

C) provide detailed procedures to the group.

D) provide the resources the group needs.

E) provide assistance to the group.
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13. Two managers both claim authority for same tasks. This is known as:
A) task interdependence.

B) incompatible goals.

C) scarce resources.

D) overlapping authority.

E) incompatible time horizons.

14. Which of the following is an example of a tangible reward that a manager can giveto a
subordinate?

A) an attractive job assignment

B) acash bonus

C) apay raise

D) stock options

E) all of the above

15. A job applicant calls a professor who taught him in college and asks him to write a letter to
her prospective employer commenting on her classroom performance. This is an example of:
A) reference-checking

B) recruiting '

C) ftraining

D) development

E) none of the above

16. In which step of SWOT analysis would “slower market growth” be most likely to arise?
A) S '
B) W

C O

D) T

E) ecither Sor W

17. A defines a business in terms of satisfying basic customer needs.
A) market-oriented mission statement

B) product-oriented mission statement

C) technology-oriented mission statement

D) environment-oriented mission statement

E) strategic plan

18. According to management guru Peter Drucker, “The aim of marketing is to
A) create customer value

B) identify customer demands

C) make selling unnecessary

D) set realistic customer expectations

E) sell products

19. The first step in strategic planning is to
A) set objectives and goals

B) develop the business portfolio

C) define the company mission

D) plan marketing strategies

E) identify a problem




. * %§2§%§£§
B 3L P R 2992 4 B L3384 KA

X

B EHEET [SFATHEALETE]

20. can be a company division, a product line within a division, or sometimes a single

product or brand. -

A) amarket

B) the BCG

C) anSBU

D) aPLC

E) avalue delivery network
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1. Societal marketing concept

2. Customer equity
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1. Home Depot sells new and used doors to contractors who build new homes. Home Depot also
sells new and used doors to homeowners. Which of the following would be counted in GDP?
A) The sale of a new door to homeowner.
B) The sale of a used door to TapKon construction for installation into a new home.
C) The sale of a new door to TapKon construction for installation into a new home.
- D) The sale of a used door to a homeowner.

2. " If your nominal wage rises faster than the price level then we can say your real wage has
and the purchasing power of your income has
A) fallen; risen ~ B) risen; fallen  C)risen; risen D) fallen; fallen

3. Ifinflation in the U.S. is higher than inflation in other countrles what will be the effect on net
exports for the U.S.? '
A) net exports will rise.as U.S. exports increase
B) net exports will decrease as U.S. imports decrease
C) net exports will decrease as U.S. exports decrease
D) net exports will rise as U.S. imports decrease

4. Ifplanned aggregate expenditures are below potential GDP, and planned aggregate expenditures
.equal GDP then _

A) the economy is in a recession. :
B) actual inventory investment will be less than planned inventory investment.

C) the economy is at full employment.
D) actual inventory investment will be greater than planned inventory investment.
5. 1If the economy is currently in equilibrium at a level of GDP that is below potential GDP, which
of the following would move the economy back to potential GDP?
A) an increase in interest rates
B) an increase in the value of the dollar relative to other currencies
C) a decrease in business confidence
D) an increase in wealth

6. Ifhouseholds in the economy decide to take money out of checking account deposits and hold it
as currency this will initially .
A) not change M1 and increase M2.  B) decrease M1 and not change M2.
C) decrease M1 and decrease M2. D) not change M1 and not change M2.

7. If households in the economy decide to take money out of checking account deposits and put
this money into savings accounts this will initially
A) increase M1 and decrease M2. B) decrease M1 and decrease M2.
C) decrease M1 and increase M2. D) decrease M1 and not change M2.

8. When you open a checking account at Bank of America, Bank of America
A) has more reserves, but excess reserves remain unchanged
B) has more deposits, but excess reserves remain unchanged.
C) has more deposits and less in excess reserves. '
D) has more reserves and more eXcess reserves.

)
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9. Suppose the Fed decreases the money supply. In response households and firms will
short term assets and this will drive interest rates.

A) sell; up B) sell; down C) buy; up D) buy; down
-10. Crowding out, following an increase in government spending, results from (the exchange rate is
the foreign exchange price of the domestic currency).
A) lower interest rates and a lower exchange rate.
B) lower interest rates and a higher exi:hange rate.
C) higher interest rates and a higher exchange rate
D) higher interest rates and a lower exchange rate

11. Consider the hypothetical information in the table below for potential real GDP, real GDP and
the price level in 2011 and in 2012 if the Congress and the president do not use fiscal policy. If
the Congress and the president want to keep real GDP at its potential level in 2012, it should

A) conduct expansionary fiscal policy. 'B) decrease government purchases.
C) decrease the discount rate. D) buy Treasury securities.

Year Potential Real GDP Real GDP Price Level
2011 $14 trillion $14 trillion 150
2012 © 14.5 trillion 14.8 trillion 154

12. Consider a tax cut which affects not only consumer disposable income, but also after tax
earnings from labor supplied to labor markets and from financial assets acquired through saving.
In the long run we would expect this tax cut to:
A) increase the level of real GDP.
B) increase the price level.
C) increase both the price level and the level of real GDP.
D) decrease both the price level and increase real GDP.

13. Which of the events below cause the shifts in supply and demand shown in the market for
dollars against the British pound shown in the graph below? ‘
A) interest rates rise in Eﬁgland ~ B)real income rises in the United States
C) interest rates rise in the United States D) real income falls in England

Exchange
rate (£/S)

0.46

0 Quantity of
dollars traded
(millions per day)




A) decrease; increase B) increase; decrease
. C) increase; increase . D) decrease; decrease

* 15. In Macroland there is $2,000,000 in currency. The public holds half of the currency and banks

hold the rest as reserves. If banks' desired reserve/deposit ratio is 5%, deposits in Macroland
equal __ and the money supply equals

A) 2,000,000; 2,100,000 B) 20,000,000; 21,000,000

C) 20,000,000: 22,000,000 D) 40,000,000; 40,000,000

16. Ron's Desk Company expects to sell $10,000,000 worth of desks and to produce $10,500,000
worth of desks in the coming year. The company purchases $100,000 of new equipment during
the year. Sales for the year turn out to be $10,000,000. Actual investment by Ron's Desk
Company equals and planned investment equals',

A) $0; $100,000 B) $0; $600,000 C) $100,000, $600,000 D) $600,000; $600,000

17. Of the following choices, which good should have the most elastic price elasticity of demand?
A)Candy bars.
B) Snickers candy bars.
C) Chocolate candy bars.
D) Candy.

18. Which of the following utility functions is an example of preferences for perfect substitutes?
A)U(x,y)=xy
. B) U(x, y) = min{2x, y}
O U@ y)=3x+5y
D) U(x,y)=2x"+4y .

19. Suppose at the firm’s current long-run combination of capital and labor that MP, =15,
MP, =10, r=8,and w=3. The firm
A)is currently minimizing total cost in the long run.
B) could lower cost by increasing the usage of capital and decreasing the usage of labor.

C) could lower cost by increasing the usage of labor and decreasing the usage of capital.
D)cannot lower cost without also lowering the level of output.

20. An environmental economic consulting firm is hired to measure the production schedule for a
coal-burning electric generating plant in such a way as to incorporate the negative externalities
associated with the pollution from the plant. The marginal social cost of this plant’s production
can be expressed as MSC =30 . Prior to the consulting firm’s report, the consultants asked the
plant’s manager for data to generate the firm’s supply schedule. The consultants calculate that
the marginal private cost of the plant’s production can be expressed as MPC = Q. The firm’s
demand curve can be expressed as P =60-2Q . If the consultants have accurately measured the
impact of the pollution externality, the firm is by dollars.

A)under-pricing; 8
B) over-pricing; 8
C) under-pricing; 16
D)over-pricing; 16
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14. Following a tax cut by government, domestic investment will and net exports will
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21. Suppose that a consumer’s demand curve for chocolate can be expressed as P =10- 207, and
suppose that the market is initially in equilibrium at a price of $4. Now suppose that the price
rises to $6. What is the change in consumer surplus?

A)An increase of 5.
B) A decrease of 2.
C) A decrease of 4.
D) A decrease of 5.

22. Suppose that firms A and B are Cournot duopolists in the salt industry. The market demand
curve can be specified as P =200-0, - 0;. The marginal cost to each firm is $40. What is

firm B’s profit-maximizing quantity when firm A produces an arbitrary output Q,?

A) 0, =160-0,.
B) 0y =160-20, .
C) 05 =80-0,.

D) 0, =80-%0,. | | |
23. Suppose every automobile requires exactly one engine (E) and four tires (T). The production
function for this process is :
A) Q=E+4T
B) 0=4E+T
C) Q =min(£,0.25T)
D) Q =min(4E, T )
24. Suppose the prlce of A is $4, the price of B is $2, and that the consumer is currently spendmg all
available income. At the consumer’s current consumption basket the marginal utility of A is 5

and the marginal utility of B is 3.
A) The consumer is currently maximizing utility.
B) The consumer could increase utility by consuming more of good A and less of good B.
~ C) The consumer could increase utility by consurmng more of good B and less of good A.
D) Nothing can be said about the consumer’s utility because we do not know the consumer’s

income or utility function.

s ¢ S - USSR - USSR o EBHMSREAS - BETE - 3285 -

1. Consider a market with 0 =200-10P+J and Q' =5P. Suppose that initially income is
I =25, and that income then increases to /=55. What is the increase in consumer surplus
from this increase in income? -

2. Consider a perfectly compétitive market with market supply Q° =-2+ P and market demand
'0¢ =30 P. Suppose the government imposes an excise tax of $4 per unit on this market.
What is consumer surplus after the government imposes the tax?

3. Suppose that a market is initially in equilibrium. The initial demand curveis P =90—-Q“. The
initial supply curve is P =20 . Suppose that the government imposes a $3 tax on this market.
What is the change in consumér surplus due to the tax?

4, | Suppose a monopolist faces demand P =400- 4Q? and has constant marginal cost MC =80.
If this monopolist engages in first-degree price discrimination, what is the total output?
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5.

Suppose that a particular plant emits a chemical that pollutes the ground water. Without
considering the effects of the pollution, the firm has a marginal private cost curve of
MPC =20 +30. The firm faces a demand curve of P =60-Q. If the firm were to incorporate

the costs of the pollution, the firm would have a marginal social cost curve of MSC =40 +30.

.What is socially optimal level of output?

The marke't for sweet potatoes consists of 1,000 identical firms. The market demand curve is
given by Q¢ =402-P. Each firm has a short-run total cost curve of STC =0.5+1000?.

What is the market-clearing price?

. Suppose in a Cournot duopoly that two firms, Firm 1 and Firm 2, face market demand

P=50-Q and both have marginal cost, MC =$20. What is the equﬂlbrlum price in thlS

. market?
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Please select one most appropriate answer in the following questions.

1. Which plan of the orgarization contains top management's decisions about the organization's
mission, goals, strategy, and structure?

A) corporate-level plan

B) divisional-level plan

C) functional-level plan

D) business-level plan

E) departmental-level plan

2. A job applicant calls a professor who taught him in college and asks him to write a letter to
her prospective employer commenting on her classroom performance. This is an example of:
A) reference-checking -
B) recruiting

C) training

D) development .

E) none of the above

3. According to path-goal theory, when leading creative workers, a manager should be:
A) supportive and critical

B) supportive and uncritical

C) hands-off and critical

D) hands-off and uncritical

E) directive

4, can be a company division, a product line within a division, or sometimes a single
‘product or brand.

A) amarket

B) the BCG

C) anSBU

D) aPLC

E) avalue delivery network

5. An organization's culture is most like its:
A) structure

B) strategy

C) reward systems

D) personality

E) vision

6. A manager's characteristic way of speaking in terms of his tone of voice, use of questions, and
choice of words is an.example of this manager's:

A) noise.

B) linguistic style.

C) nonverbal communication.

D) information richness.

E) information distortion.
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7. A church targeting different demographic groups to increase attendance is an example of

A) for-profit marketing

B) not-for-profit marketing
C) mindless marketing

D) ethics in marketing

E) societal marketing

8. In XYZ Company, each product line is managed within a division. In each of these

divisions, the division manager is responsible for creating the business-level strategy for the

product line. What type of structure is the organization using?

A) geographic structure

B) market structure

C) product structure

D) functional structure

E) none of the above ' ' i

9. The managers of an organization feel that the advertising message of one of their major
competitors is false and misleading. This is an example of:

A) intragroup conflict.

B) intrapersonal conflict.

C) intergroup conflict.

D) interorganizational conflict.

E) all of the above.

10. A sales manager for a Ford Motor Co. dealer evaluates each one of his sales staff monthly
on the basis of the number of new cars sold dunng the past month. This is an example of:
A) asubjective appraisal. : :
B) situational testing.

C) personality testing.

D) ability testing.

E) an objective appraisal.

11. The sharing of information between two or more people within the organization in order to
reach a common understanding is known as:

A) noise. '

B) encoding.

C) communication.

D) filtering.

E) jargon.

12. In attempting to promote innovation in a work group, the supervisor of this work group
should do all of the following EXCEPT: '
A) provide guidance to the group.

B) provide coaching to the group.

C) provide detailed procedures to the group.

D) provide the resources the group needs.

E) provide assistance to the group.
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13. Two managers both claim authority for same tasks. This is known as:
A) task interdependence.

B) incompatible goals.

C) scarce resources.

D) overlapping authority.

E) incompatible time horizons.

14. Which of the following is an example of a tangible reward that a manager can give to a
subordinate?

A) an attractive job assignment

B) acash bonus

C) apay raise

D) stock options

E) all of the above

15. A defines a business in terms of satisfying basic customer needs.
A) market-oriented mission statement

B) product-oriented mission statement

C) technology-oriented mission statement

D) environment-oriented mission statement

E) strategic plan

16. In which step of SWOT analysis would “slower market growth” be most likely to arise?
A) S

B) W

C O

D) T

E) either Sor W

17. When conflict is resolved by compromise between the parties in conflict, this is known as:

A) functional conflict resolution
B) top-down change

C) bottom-up change

D) distributive negotiation

E) organizational politics

18. According to management guru Peter Drucker, “The aim of marketing is to 7
A) create customer value

B) identify customer demands

C) make selling unnecessary

D) set realistic customer expectations

E) sell products-

19. The first step in strategic planning is to
A) set objectives and goals

B) develop the business portfolio

C) define the company mission

D) plan marketing strategies

E) identify a problem
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20. The component of an HRM system that focuses on attempting to attract and to hire
employees who have the abilities and experiences to help the organization to achieve its goals is
known as:

A) ftraining.

B) development.

C) recruitment and selection.

D) performance appraisal.

E) feedback. -
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" 1. Suppose that a very simple economy produces three goods: movies, burgers, and. bikes. Suppose
the quantities produced and their corresponding prices for 2002 and 2007 are shown in the

following table.
2002 2007
Product Quantity Price Quantity Price
Movies 20 $6 30 $7
Burgers 100 $2 90 $2.50
Bikes 3 $1,000 6 $1,100
What is real GDP in 2007, using 2002 as the base year?
A) $6,360 B)$3,690. C)$7,035 D) $3,320

2. The equilibrium wage in a local labor market is $6 per hour. If a minimum wage of $8 per hour
is imposed, which of the following will occur? ‘
A) There will be an increase in unemployment
B) There will be a decrease in the quantity of labor supplied by households.
C) There will be an increase in the quantity of labor demanded by firms.

D) All of the above will occur.

3. Ifinflation in the U.S. is higher than inflation in other countries, what will be the effect on net
exports for the U.S.? ' :
A) net exports will rise as U.S. exports increase
B) net exports will decrease as U.S. imports decrease
C) net exports will decrease as U.S. exports decrease
D) net exports will rise as U.S. imports decrease

4. Suppose the economy is at a short run equilibrium GDP that lies above potential GDP. Which of
the following will occur because of the automatic mechanism adjusting the economy back to
potential GDP?

A) Short-run aggregate supply will shift to the left.
B) Prices will decline.

C) Output will increase.

D) Unemployment will decline.

5. After an unexpected increase in the price of oil, the long-run adjustment the price

the unemployment rate as they return to their original levels.

B) increases; increases '

D) decreases; decreases

level and
A) decreases; increases
C) increases; decreases

6. If households in the economy decide to take money out of checking account deposits and hold it
as currency this will initially
A) not change M1 and increase M2.
B) decrease M1 and not change M2.
C) decrease M1 and decrease M2.
D) not change M1 and not change M2.
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7.

10.

11.

When you open a checking account at Bank of America, Bank of America
A) has more reserves, but excess reserves remain unchanged

B) has more deposits, but excess reserves remain unchanged.

C) has more deposits and less in excess reserves.

D) has more reserves and more excess reserves.

Suppose the Fed decreases the money supply. In response households and firms will
short term assets and this will drive interest rates.

A) sell; up B) sell; down C) buy; up D) buy; down

An increase in government spending, as the price level rises,

A) decreases the interest rate and consumption and investment spending decline.
B) increases the interest rate and consumption and investment spending decline.
C) decreases the interest rate and consumption and investment spending rise.

D) increases the interest rate and consumption and investment spending rise.

Consider a tax cut which affects not only consumer disposable income, but also after tax
earnings from labor supplied to labor markets and from financial assets acquired through saving.
In the long run we would expect this tax cut to:

A) increase the level of real GDP.

B) increase the price level.

C) increase both the price level and the level of real GDP.

D) decrease both the price level and increase real GDP.

The price level in the economy between 2005 and 2006 rose from 100 to 105. Between 2006 and
2007, the price level rose from 105 to 110.25. How does the short-run Phillips curve predict the
unemployment rate will change as a result?

" A) The unemployment rate will decrease since inflation decreased.

B) The unemployment rate will not change since there is no change in the rate of inflation.

- C) The unemployment rate will decrease since inflation increased.

12.

13.

14.

D) The unemployment rate will increase since inflation increased.

If the United States is a “net borrower” from abroad,

A) domestic saving is less than domestic investment.

B) net foreign investment must be positive.

C) net capital flows must be negative. '

D) the United States must be exporting more than it is importing.

Following a tax cut by government, domestic investment will ' and net exports will

A) decrease; increase B) increase; decrease
C) increase; increase D) decrease; decrease

Ron's Desk Company expects to sell $10,000,000 worth of desks and to produce $10,500,000
worth of desks in the coming year. The company purchases $100,000 of new equipment during
the year. Sales for the year turn out to be $10,000,000. Actual investment by Ron's Desk
Company equals _____and planned investment equals .

A) $0; $100,000 B) $0; $600,000  C) $100,000; $600,000 = D) $600,000; $600,000
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15. If the government finances an increase in government purchases with an increase in taxes, which
of the following would you not expect to see?
A) an increase in the exchange rate B) a decrease in the interest rate

C) a decrease in net exports D) an increase in aggregate demand
16. Holding all else constant, an increase in U.S. real GDP will the supply of dollars in the
foreign exchange market and the equilibrium Mexican peso/U.S. dollar exchange rate.

A) increase; increase  B) increase; decrease  C) decrease; increase D) decrease; decrease

17. Suppose MRS, ,=3.
A) The consumer is willing to substitute 3 units of x for 1 unitof y to leave utility

unchanged.
B) The consumer is willing to substitute 3 units of y for 1 unitof x to leave utility

“unchanged.
C) Regardless of prices, the consumer will consume only y.
D)Regardless of prices, the consumer will consume only x.

18. Suppose the price of A is $4, the price of B is $2, and that the consumer is currently spending all
available income. At the consumer’s current consumption basket the marginal utility of A is 5
and the marginal utility of B is 3.

A) The consumer is currently maximizing utility.

B) The consumer could increase utility by consuming more of good A and less of good B.
C) The consumer could increase utility by consuming more of good B and less of good A.
D) Nothing can be said about the consumer’s utility because we do not know the consumer’s

income or utility function.

19. Suppose every automobile requires exactly one engine (E) and four tires (T). The production
function for this process is
A) Q=E+4T
B) Q=4E+T
C) 0 =min(E,0.25T)
D) Q =min(4E,T)

20. Which of the following is not a real-world example of second-degree price discrimination?
A)A pizza parlor sells large and small pizzas. Although the large pizzas are twice as big as the
small pizzas, they cost less than double the price of a small pizza.
B) An electric company sells “blocks” of power at different prices. ~Specifically, any customer
who buys more that Q1 units of electricity can purchase additional units a a lower block

price.
C) Sam’s Club® warehouses sell bulk quantities of macaroni and cheese for a cheaper per unit
price than a grocery store, but the boxes are packaged together so that the customer must buy

six boxes at a time.
D) A movie theater charges senior citizens.a cheaper price for movie tickets than it charges

non-senior citizens for the same movie ticket.

21. The production function Q=KL exhibits
A)increasing returns to scale.
B) constant returns to scale.
C) decreasing returns to scale.
D)undefined returns to scale.
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. Which of the following goods/service is an example of a good that is non-rival but exclusive
A) hunting in a public game area. ~ B) national defense.
C) public radio. D) a pay-TV channel.

. Suppose that the market for bicycles is initially in equilibrium. Further suppose that there is an

increase in the price of bicycle helmets. Which of the following accurately describes the new
equilibrium? : '

A) The equilibrium price will rise; the equilibrium quantity will fall.

B) The equilibrium price will rise; the equilibrium quantity will rise.

C) The equilibrium price will fall; the equilibrium quantity will fall.

D) The equilibrium price will fall; the equilibrium quantity will rise.

Suppose at the firm’s current long-run combination of capital and labor that MP, =15,
MP, =10, r=8,and w=3.The firm

A)is currently minimizing total cost in the long run.

B) could lower cost by increasing the usage of capital and decreasing the usage of labor:
C) could lower cost by increasing the usage of labor and decreasing the usage of capital.
D)cannot lower cost without also lowering the level of output.

B B RAESIESE  RSETEGETRE - BEHMEEAS) » BT - H285

1.

Consider a perfectly competitive market with market supply Q°=-2+P and market demand
0? =30~ P. Suppose the government imposes an excise tax of $4 per unit on this market.
What is the deadweight loss from this tax?

. Suppose that a market is initially in equilibrium. The initial demand curve is P =100- 0.

The initial supply curve is P =3Q°. Suppose that the government imposes a $4 subsidy on this
market. What is the dead-weight loss due to the subsidy?

Suppose a monopolist faces demand P =400-4Q" and has constant marginal cost MC =80.
If this monopolist engages in first-degree price discrimination, what is the producer surplus?

. Consider a lottery with four possible outcomes, A, B, C, and D. The associated payoffs are:-

A -- $10, B -- $30, C -- $70, and D -- $150. The probabilities are P(4)=0.40, P(B)=0.20,
P(C)=0.30,and P(D)=0.10. What is the expected value of this lottery?

Suppose that a particular plant emits a chemical that pollutes the ground water. Without
considering the effects of the pollution, the firm has a marginal private cost curve of
MPC =20 +30. The firm faces a demand curve of P =60-0 . If the firm were to incorporate -

the costs of the pollution, the firm would have a marginal social cost curve of MSC =40 +30.
What is the value of an optimal emissions fee that would achieve the socially optimal level of
output? g ' .

Consider a market with 0 =200—10P+7 and Q° =5P . Suppose that initially income is

I =25, and that income then increases to 7 =55. What is the increase in consumer surplus from
this increase in income?

. Suppose in a market that market demand is Q =100— P and market supply is Q" =3P .If the

typical firm in the industry has STC =200+ Q+40?, how many units should the typical firm
produce to maximize profit?
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Multiple-Choice Problem (In this exam there are 50 multiple choice problems with _
each problem worth 2 points and a total of 100 points.) 58 /Z) \'\z/ &’} %
| : 9] Lo RN

L. If P(A) = 0.4, P(B| A) = 0.35, P(A U B) =0.69, then P(B) =
a. 0.14 :
b. 0.43
c. 0.75
d 059 :
2. Two events with nonzero probabilities
a. can be both mutually exclusive and independent
b.. can not be both mutually exclusive and independent
c. are always mutually exclusive
d. are always independent
3. Records of a company show that 20% of the employees have only a high
school diploma; 70% have bachelor degrees; and 10% have graduate degrees.
-Of those with only a high school diploma, 10% hold management positions;
whereas, of those having bachelor degrees, 40% hold management positions.
Finally, 80% of the employees who have graduate degrees hold management
positions. Given that a person holds a management position, what is the
. probability that she/he has a graduate degree? :
a. 0.2218
b. 0.2198
c. 0.2105
d. 0.1105
4, The nominal scale of measurement has the properties of the
a. ordinal scale
b. only interval scale
c. ratio scale
d. None of these alterhatives is correct.
5. The scale of measurement that has an inherent zero value defined is the
a. ratio scale
b. nominal scale
c. ordinal scale
d. interval scale
6. Arithmetic operations are inappropriate for
a. qualitative data
b. quantitative data
c. both qualitative and quantitative data
d. large data sets :
7. Statistical inference
a.. refers to the process of drawing inferences about the sample based on the
characteristics of the population ' '
b. is the same as descriptive statistics
c. is the process of drawing inferences about the population based on the
information taken from the sample
d. is the same as a census
8.  Since the population size is always larger than the sample size, then the
sample statistic :
a. can never be larger than the population parameter
b. can never be equal to the population parameter
c. can be smaller, larger, or equal to the population parameter
d. can never be smaller than the population parameter

9. The hourly wages of a sample of 130 system analysts are given below.
mean = 60 range =20
mode =73 variance = 324
median =74

The coefficient of variation equals
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10.

11.

12.

13.

14.

15.

16.

17.

18.

a. 0.30%
b. 30%
c. 5.4%
d. 54%

If index i (which is used to determine the location of the pth percentile) is not
an integer, its value should be

a. squared

b. divided by (n—1)

c. rounded down

d. rounded up

The measure of dispersion that is influenced most by extreme values is

a. the variance

b. the standard deviation

c. therange

d. the interquartile range

The measure of location which is the most likely to be influenced by extreme
values in the data set is the

a. range

b. median

c. mode

d. mean _

The value of the sum of the deviations from the mean, i.e., X(x—x) must

always be

a. less than the zero

b. negative

c. either positive or negative depending on whether the mean is negatlve or
positive

d. zero ’

A numerical description of the outcome of an experiment is called a

a. descriptive statistic

b. probability function -

c. variance

d. random variable

In the textile industry, a manufacturer is interested in the number of blemishes

or flaws occurring in each 100 feet of material. The probab1hty d1str1but10n
that has the greatest chance of applying to this situation is the

a. normal distribution

b. binomial distribution

c. Poisson distribution

d. uniform distribution

The key difference between the binomial and hypergeometric distribution is
that with the hypergeometric distribution

a. the probability of success must be less than 0.5

b. the probability of siiccess changes from trial to trial

c. the trials are independent of each other

d. the random variable is continuous

Only 0.02% of credit card holders of a company report the loss or theft of their
credit cards each month. The company has 15,000 credit cards in the city of
Memphis. Use the Poisson probability tables to determine the expected
number of reported lost or stolen credit cards.

a. 4.03
b. 1.57
c. 3.0
d. 5.0

Refer to problem 17. What is the standard deviation for the number of reported

lost or stolen cards?
a. 1.73
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19.

20.

21.

22.

23.

24.

25.

26.

217.

b. 2.0

c. 3.0

d. 9.0

A retailer of electronic equipment received six VCRs from the manufacturer.
Three of the VCRs were damaged in the shipment. The retailer sold two VCRs
to two customers. What probability distribution can be used to solve for this
problem?

a. binomial

b. hypergeometric

c. Poisson

d. Uniform ,

7 is a standard normal random variable. The P(-1.96 < Z < -1.4) equals

a. 0.8942

b. 0.0558

c. 0.475

d. 0.4192

The point estimator with the smaller variance is said to have

a. smaller relative efficiency

b. greater relative efficiency

c. smaller relative consistency

d. greater relative consistency

A population has a mean of 80 and a standard deviation of 7. A sample of 49
observations will be taken. The probability that the sample mean will be
larger than 82 is

a. 0.5228

b. 0.9772

c. 04772

d. 0.0228

As the number of degrees of freedom for a t distribution increases, the
difference between the t distribution and the standard normal distribution

a. becomes larger :

b. becomes smaller

c. stays the same

d. None of these alternatives is correct.

In order to use the normal distribution for interval estimation of p when o is
known and the sample is very small, the population

a. must be very large

b. must have a normal distribution

c. can have any distribution

d. must have a mean of at least 1 :

A sample of 200 elements from a population is selected, and the standard

deviation of the sample is computed. For an intetval estimation of i, the
proper distribution to use is the

a. normal distribution

b. tdistribution with 200 degrees of freedom

c. tdistribution with 201 degrees of freedom

d. tdistribution with 202 degrees of freedom

After computing a confidence interval, the user believes the results are
meaningless because the width of the interval is too large. Which one of the
following is the best recommendation? ,

a. Increase the level of confidence for the interval.

b. Decrease the sample size.

c. Increase the sample size.

d. Reduce the population variance.

In determining the sample size necessary to estimate a population proportion,
which of the following information is not needed? :

a. the maximum margin of error that can be tolerated

b. the confidence level required
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28.

29.

30.

31.

32.

33.

34.

35.

36.

c. apreliminary estimate of the true population proportion P

d. the mean of the population

The manager of a department store wants to determine what proportion of
people who enter the store use the store's credit cards for their purchases.
What size sample should he take so that at 95% confidence the error will not

be more than 6%‘?

a. 257
b. 357
c. 267
d. 367 A

The p-value is a probability that measures the support for the

a. null hypothesis

b. alternative hypothesis

c. either the null or the alternative hypothesis

d. sample statistic

A Type I error is committed when

a. a true alternative hypothesis is mistakenly rejected

b. atrue null hypothesis is mistakenly rejected

c. the sample size has been too small

d. not enough information has been available

Which of the following does not need to be known in order to compute the
p-value?

a. knowledge of whether the test is one-tailed or two-tailed

b. the value of the test statistic

c. the level of significance

d. None of these alternatives is correct.

Your investment execttive claims that the average yearly rate of return on the
stocks she recommends is more than 10.0%. You plan on taking a sample to

test her claim. The correct set of hypotheses is

a. Hy p<10.0% H, p>10.0%
b. Hp: 1<10.0% }:I[a: p>10.0%

c. Hp p>100% H,: p<10.0%

d. Hy p=10.0% H,; p<10.0%

If a hypothesis is rejected at the 5% level of significance, it

a. will always be rejected at the 1% level

b. will always be accepted at the 1% level

c. will never be tested at the 1% level

d. may be rejected or not rejected at the 1% level

A random sample of 16 students selected from the student body of a large
university had an average age of 25 years and a standard deviation of 2 years.
We want to determine if the average age of all the students at the university is

significantly more than 24. Assume the distribution of the population of ages

is normal. The test statistic is ’ -

a. 1.96
b. 2.00
c. 1.645
d. 0.05

Independent simple random samples are taken to test the difference between
the means of two populations whose variances are not known. The sample
sizes are n; =32 and n, =40. The correct distribution to use is the

a. binomial distribution

b. tdistribution with 72 degrees of freedom

c. tdistribution with 71 degrees of freedom

d. t distribution with 70 degrees of freedom

The standard error of x, —Xx, isthe

a. variance of x;—X, o

b. variance of the sampling distribution of x; —x,

4
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37.

38.

39.

40.

41.

42,

43.

c. standard deviation of the sampling distribution of x, —x,

d. difference between the two means '

An insurance company selected samples of clients under 18 years of age and
over 18 and recorded the number of accidents they had in the previous year.
The results are shown below. '

Under Age of 18 Over Age of 18

n = 500 Ny, = 600 .

Number of accidents = 180 Number of accidents = 150

We are interested in determining if the accident proportions differ between the
two age groups. The test statistic is

a. 0.96

b. 1.96

c. 2.96

d. 3.96

The producer of a certain medicine claims that their bottling equipment is very
accurate and that the standard deviation of all their filled bottles is 0.1 ounce
or less. A sample of 20 bottles showed a standard deviation of 0.11. The
test statistic to test the claim is

a. 400

b. 22.99

c. 4.85

d. 20
To avoid the problem of not having access to tables of the F distribution with

values given for the lower tail when a two-tailed test is required, let the
smaller sample variance be

a. the denominator of the test statistic

b. the numerator of the test statistic

c. atleast one

d. None of these alternatives is correct.

The president of a bank believes that the variance of the deposits of suburban
customers is more than the variance of city customers. Below you are given
the results of samples taken from suburban and city customers.

Customers Suburban Customers City Customers
8 150 90
n 21 19
What is the test statistic? A
a. 2.56
b. 2.87
c. 2.78
d. 3.02

In an analysis of variance problem involving 3 tiedtmients and 10 observations
per treatment, SSE =399.6. The MSE for this situation is

a. 133.2
b. 13.32°
c. 14.8

d. 30.0 _
An ANOVA procedure is applied to data obtained from 6 samples where each

sample contains 20 observations. The degrees of freedom for the critical
value of F are

a. 6 numerator and 20 denominator degrees of freedom

b. 5 numerator and 20 denominator degrees of freedom

c. 5 numerator and 114 dehominator degrees of freedom

d. 6 numerator and 20 denominator degrees of freedom

SSTR = 6,750 H()Z H1=H2= 3=}y

SSE = 8,000 H.: atleast one mean is different

nr=20 The test statistic to test the null hypothesis equals

a. 0.22 .
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44, .

45.

46.

47.

48.

49.

50.

b. 0.84

c. 422

d. 45

In ANOVA, which of the following is not affected by whether or not the
population means are equal?

a. X

b. between-samples estimate of o

c. within-samples estimate of ¢*

d. None of these alternatives is correct.

In regression analysis, which of the following is not a required assumption
about the error term g7

a. The expected value of the error term is one.

b. The variance of the error term is the same for all values of X.

-¢. The values of the error term are independent.

d. The error term is normally distributed.
In simple linear regression analysis, which of the following is not true? -
a. The F test and the t test yield the same results.
b. TheF test and the t test may or may not yield the same results.
c. The relationship between XandYis represented by a straight line.
d. The value of F=t%,
In a regression and correlation analysis if =1, then
a. SSE=SST
b. SSE=1
c. SSR=SSE
d. SSR=SST
In a regression model involving 44 observations, the following estimated
regression equation was obtained.
=29 + 18X, +43X, + 87X; with SSR = 600 and SSE = 400.
The computed F statistics for testing the signhificance of the above model is
a. 1.500

b. 20.00

c. 0.600

d. 0.6667

The following results were obtained from a multiple regression analysis.

Source of . Degrees Sum of Mean

Variation of Freedom . Squares Square F

Regression 384 48

Error 20

Total 704

How many observations were involved?

a. 8

b. 25

c. 24

d. 26

When dealing with the problem of non-constant variance, the transformation
~ oftenly used is

a. 1/X as the independent variable instead of X

b. X as the independent variable instead of X

c. Y? as the dependent variable instead of Y

d. 1/Y as the dependent variable instead of Y
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6 . Juud EO(% whare l~n(?fj)= e”

172

17.  Use Taylor expansion to estimate J. 5
' gl+x

to the 6™ decimal place. 10%

18. Assume that your starting salary is NT$30,000 a month and you get a raise of

$300 each year. 1094
a. Express the percentage of rate of change of your salary as a function of time. 2 %

b. At what percentage rate will your salary be increasing after one year. g%
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" A) Buy government bonds from public B) Reduce reserve requirements

To raise the interest rate, the FED should do which of the following?

C) Raise the discount rate ~ D) None of above

Refer to the following figure. Potential GDP equals $100 billion. The economy is currently
producing GDP1 which is equal to $90 billion. If the MPC is .8, then how much must
autonomous spending change for the economy to move to potential GDP?

A) $18 billion B) $2 billion C) -$2 billion D) -$18 billion

Real aggregate
expenditure, AE
(trillions of Y=AE
2000 dollars) )

% - Potential GDP

0 . GDP, Real GDP, Y
{trlllions of
2000 dollars)

The marginal propensity to consume is

A) assumed to be constant in the basic Keynesian model.

B) the amount of consumption for any given level of disposable income.
C) the additional consumption when disposable income rises by $1.

D) the level of consumption divided by the level of disposable income.

If inflation in the U.S. is higher than inflation in other countries, what will be the effect on net
exports for the U.S.?

A) net exports will rise as U.S. exports increase

B) net exports will decrease as U.S. imports decrease

C) net exports will decrease as U.S. exports decrease

D) net exports will rise as U.S. imports decrease

If GDP per cépita rises by 2% between 2007 and 2008, which of the following is necessarily
true? . ' ‘
A) The population has decreased.

B) The population has increased, but by less than 2%.

C) Real GDP has risen by more than 2%.

D) None of the above is necessarily true.

In the short run, an increase in military spending

A) shifts the aggregate demand curve to the right.

B) shifts the aggregate demand curve to the left.

C) shifts the long run aggregate supply curve to the left.
D) has no effect on aggregate demand
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7 When the real interest rate rises, which of the following is true?

A) Consumption and planned investment spending rise.
B) Consumption and planned investment spending fall.
'C) Consumption spending rises while planned investment spending falls.
D) Consumption spending falls while planned investment spending rises.

A decrease in government purchases due to Congressional budget cuts will cause
A) AD curve shifts left
B) AD curve shifts right
C) AS curve shifts right
D) AS curve shifts left

0. Refer to the following figure. Suppose that government spending increases, shifting up the

aggregate expenditure line. GDP increases from GDP1 to GDP2, and this amount is $400
billion. If the MPC is .75, then what is the distance between N and L or by how much did
government spending change?

A) $10 billion B) $100 billion C) $200 billion D) $300 billion

Real aggregate
expenditure, AE
{trillions of
2000 dolfars)

S
A

T 0 GDP,

GDP, Real GDP,Y
(trillions of
2000 dollars)

10. In the figure beloW, LRASI and SRAS! denote LRAS and SRAS in year 1, while LRAS2 and

SRAS? denote LRAS and SRAS in year 2. Given the economy is at point A in year 1, what is

the growth rate in potential GDP in year 27

A)10%  B)12%  C)9.1%  D)8%

140 | menen o o WA

" \ AD,

Real GDP
{triltions of dellars)

118 124
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1. Walter consumes two goods, X andY . Walter’s utility function can be represented by

- U =10X2Y . The price of good X is $2, and the price of good Y is $1. Walter has $30 to spend
on the purchases of goods X and Y. If Walter is maximizing his utility subject to his budget
constraint, how many units of goods X and Y should he buy? (10 73)

2. Charlie consumes two goods, professional baseball games (B) and mystery novels (N ) The

price of baseball games is P, ; the price of mystery novelsis Py. Charlie has an income of Ito

spend on these two goods. Charlie’s utility function can be represented as U =B*N, with
MU, =2BN and MU, = B?. What is the equation for the demand curve for mystery novels

and baseball games? (10 43°)

3. Consider the short-run production function (10 43 » % 5 53)

0 =50L+100K

a) Derive the cost-minimizing quantity of labor as a function of output and capital. |
b) Assume the price of laboris w =10 and the rental rate of capital is» = 40 . Derive the

short-run total cost function.

4. Dave and Carolyn run a landscaping company. They employ people and rent equipment to dig

holes for tree planting. They rent power auger machines, which need two people to run each
machine. The production function can be written as Q= min {IOK , SL} . Dave and Carolyn pay

their workers $10 per hour. The machines rent for $20 per hour. Dave and Carolyn need to dig
500 holes by the end of the week. (1043 %54
a) In order to minimize their costs for this level of output, how many labor hours should they

hire? How many machine hours should they rent?
b) What is the total cost of digging the 500 holes?

5. Suppose a profit-maximizing monopolist producing Q units of output faces the demand curve

P= 100—Q . Its total cost when producing Q units of outputis 7C =0?+10Q0+10. (103 &5
73)

a) Suppose price discrimination is impossible. How large will the profit be? How large is the

producer surplus? _
b) Suppose the firm can engage in perfect first-degree price discrimination. How large will the

profit be? How large is the producer surplus?
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Multiple-Choicé Problem (In this exam there are 50 multiple choice p%lems

with
each problem worth 2 points and a total of 100 points.) (Vé v ‘)@"g Yz
1 /3 B3X

0l.

02.

03.

04.

05.

06.

07.

08.

09.

A Type II error is committed when

a. a true alternative hypothesis is mistakenly rejected

b. atrue null hypothesis is mistakenly rejected

c. the sample size has been too small

d. not enough information has been available

As the number of degrees of freedom for a t distribution increases, the
difference between the t distribution and the standard normal distribution
a. becomes larger

b. becomes smaller

c. stays the same

d. None of these alternatives is correct.

In order to use the normal distribution for interval estimation of p when-c-is-
known and the sample is very small, the population

a. must be very large -

b. must have a normal distribution

c. can have any distribution

d. must have a mean of at least 1

Which of the following does not need to be known in order to compute the
p-value?

a. knowledge of whether the test is one-tailed or two-tailed

-~ b. the value of the test statistic

c. the level of significance

d. None of these alternatives is correct. :

After computing a confidence interval, the user believes the results are
meaningless because the width of the interval is too large. 'Which one of the
following is the best recommendation?

a. Increase the level of confidence for the interval.

b. Decrease the sample size.

c. Increase the sample size.

d. Reduce the population variance. :

In determining the sample size necessary to estimate a population proportion,
which of the following information is not needed?

a. the maximum margin of error that can be tolerated

b. the confidence level required

c. apreliminary estimate of the true population proportion P

d. the mean of the population

The producer of a certain medicine claims that their bottling equipment is very
accurate and that the standard deviation of all their filled bottles is 0.1 ounce
orless. A sample of 20 bottles showed a standard deviation of 0.11. The
test statistic to test the claim is :

a. 400 ~

b. 22.99

c. 4.85

d. 20
To avoid the problem of not having access to tables of the F distribution with

values given for the lower tail when a two-tailed test is required, let the
smaller sample variance be

a. the denominator of the test statistic

b. the numerator of the test statistic

c. atleastone

d. None of these alternatives is correct.

The president of a bank believes that the variance of the deposits of suburban
customers is more than the variance of city customers. Below you are given
the results of samples taken from suburban and city customers.

1
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10.

11.

12.

13.

14.

15.

16.

17.

Customers Suburban Customers City Customers
s 150 90
n . 21 19
What is the test statistic?
a. 2.56
b. 2.87
c. 2.78
d. 3.02

In an analysis of variance problem involving 3 treatments and 10 observations
per treatment, SSE =399.6. The MSE for this situation is
a. 133.2

b. 13.32
c. 14.8
d. 30.0 ‘

An ANOVA procedure is applied to data obtained from 6 samples where each
sample contains 20 observations. The degrees of freedom for the critical
value of F are '

a. 6 numerator and 20 denominator degrees of freedom

b. 5 numerator and 20 denominator degrees of freedom

c. -5 numerator and 114 denominator degrees of freedom

d. 6 numerator and 20 denominator degrees of freedom

The manager of a department store wants to determitie what proportion of
people who enter the store use the store's credit cards for their purchases.
What size sample should he take so that at 95% confidence the error will not
be more than 6%?

a. 257

b. 357

c. 267

d. 367

The p-value is a probability that measures the support for the
a. null hypothesis

b. alternative hypothesis

c. either the null or the alternative hypothesis

d. sample statistic

Your investment executive claims that the average yearly rate of return on th
stocks she recommends is more than 10.0%. You plan on taking a sample to
test her claim. The correct set of hypotheses is

a. Hp: p<10.0% Hy: p2>10.0%

b. Hy: p<10.0% H; pn>10.0%

c. Hp: p>100% Hp p<10.0%

d. Hp: p210.0% H, p<10.0%

If a hypothesis is rejected at the 5% level of significance, it

a. will always be rejected at the 1% level 4

b. will always be accepted at the 1% level

c. will never be tested at the 1% level

d. may be rejected or not rejected at the 1% level

A random sample of 16 students selected from the student body of a large
university had an average age of 25 years and a standard deviation of 2 years.
We want to determine if the average age of all the students at the university is
significantly more than 24.  Assume the distribution of the population of ages
is normal. The test statistic is

a. 1.96

b. 2.00

c. 1.645

d. 0.05

The scale of measurement that has an inherent zeto value defined is the
a. ratio scale
b. nominal scale
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18.

19.

20.

21.

22.

23.

24.

25.

26.

c. ordinal scale
d. interval scale
In a regression and correlation analysis if t* = 1, then

a. SSE=SST
b. SSE=1

c. SSR=SSE
d. SSR=SST

In a regression model involving 44 observations, the following estimated
regression equation was obtained.

Y =29+18X;+43X,+87X; = with SSR =600 and SSE = 400.

The computed F statistics for testing the significance of the above model is
a. 1.500 '

b. 20.00

c. 0.600

d. 0.6667

The following results were obtained from a multiple regression analysis.
Source of Degrees _ Sum of - Mean
Variation of Freedom Squares Square F
Regression 384 48

Error 20

Total 704 '

How many observations were involved?

a. 8§ '

b. 25

c. 24

d 26 : :
When dealing with the problem of non-constant variance, the transformation

- oftenly used is

a. 1/X as the independent variable instead of X

b. X2 as the independent variable instead of X

c. Y?as the dependent variable instead of Y

d. 1/Y as the dependent variable instead of Y

The measure of dispersion that is influenced most by extreme values is

a. the variance

b. the standard deviation

c. therange

d. the interquartile range . _
The measure of location which is the most likely to be influenced by extreme
values in the data set is the ‘ S

a. range

b. median

c. mode

d. mean
Independent simple random samples are taken to test the difference between

the means of two populations whose variances are not known. The sample
sizes are n; =32 and n; =40. The correct distribution to use is the

a. binomial distribution

b. tdistribution with 72 degrees of freedom

c. tdistribution with 71 degrees of freedom

d. tdistribution with 70 degrees of freedom

The standard error of x, —x, is the

a. variance of X, —Xx, _

b. variance of the sampling distribution of x; —x, _
c. standard deviation of the sampling distribution of x, —x,

d. difference between the two means
An insurance company selected samples of clients under 18 years of age and

3
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27.

28.

29.

30.

31.

32.

33.

34,

over 18 and recorded the number of accidents they had in the previous year.
The results are shown below.

Under Age of 18 Over Age of 18

n = 500 : n; = 600

Number of accidents = 180  Number of accidents = 150

We are interested in determining if the accident proportions differ between the
two age groups. The test statistic is

a. 0.96

b. 1.96

¢, 2.96

d. 3.96

SSTR = 6,750 Ho: U= H2=H3=H4

SSE = 8,000 H,: atleast one mean is different

nt =20 The test statistic to test the null hypothesis equals
a. 022

b. 0.84

c. 422

d. 4.5
In ANOVA, which of the following is not affected by whether or not the

‘population means are equal?

a. X

b. between-samples estimate of o’

c. within-samples estimate of ¢

d. None of these alternatives is correct. :

In regression analysis, which of the following is not a required assumption
about the error term €7

a. The expected value of the error term is one.

b. The variance of the error term is the same for all values of X.

c. The values of the error term are independent.

d. The error term is normally distributed.

In simple linear regression analysis, which of the following is not true?
a. The F test and the t test yield the same results.

b. The F test and the t test may or may not yield the same results.

- ¢. The relationship between X and Y is represented by a straight line.

d. The value of F=t%, _

The nominal scale of measurement has the properties of the

a. ordinal scale : :

b. only interval scale

c. ratioscale

d. None of these alternatives is correct. _

The value of the sum of the deviations from the mean, i.e., 2(x—x) must

always be

a. less than the zero

b. negative

c. either positive or negative depending on whether the mean is negative or
positive

d. zero

A numerical description of the outcome of an experiment is called a

a. descriptive statistic

b. probability function

c. variance

d. random variable

If P(A) = 0.4, P(B| A) = 0.35, P(A U B) =0.69, then P(B) =

a. 0.14

b. 0.43

c. 0.75

d. 0.59
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35.

36.

37.

38.

39.

40.

41.

42,

43.

Two events with nonzero probabilities ,

a. can be both mutually exclusive and independent

b. can not be both mutually exclusive and independent

c. are always mutually exclusive

d. are always independent

Records of a company show that 20% of the employees have only a high

school diploma; 70% have bachelor degrees; and 10% have graduate degrees.

Of those with only a high school diploma, 10% hold management positions;

whereas, of those having bachelor degrees, 40% hold management positions.

Finally, 80% of the employees who have graduate degrees hold management

positions. Given that a person holds a management position, what is the

probability that she/he has a graduate degree? ‘

a. 0.2218

b. 0.2198

c. 0.2105

d. 0.1105

Arithmetic operations are inappropriate for

a. qualitative data : '

b. quantitative data

c. both qualitative and quantitative data

d. large data sets

Statistical inference

a. refers to the process of drawing inferences about the sample based on the
characteristics of the population

b. is the same as descriptive statistics ~

c. is the process of drawing inferences about the population based on the
information taken from the sample

d. isthe same as a census

The point estimator with the smaller variance is said to have

a. smaller relative efficiency

b. greater relative efficiency

c. smaller relative consistency

d. greater relative consistency A :

A retailer of electronic equipment received six VCRs from the manufacturer.

Three of the VCRs were damaged in the shipment. The retailer sold two VCRs

to two customers. What probability distribution can be uised to solve for this

problem?

a. binomial

b. hypergeometric

c. Poisson

d. Uniform

Z is a standard normal random variable. The P(-1.96 <Z <-1.4) equals

a. 0.8942

b. 0.0558

c. 0475

d. 0.4192
A population has a mean of 80 and a standard deviation of 7. A sample of 49

observations will be taken. The probability that the sample mean will be

larger than 82 is
a. 0.5228
b. 0.9772
c. 0.4772

d. 0.0228
A sample of 200 elements from a population is selected, and the standard

deviation of the sample is computed. For an interval estimation of p, the
proper distribution to use is the

a.. normal distribution

b. tdistribution with 200 degrees of freedom

5
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44,

45.

46.

47.

48.

49.

50.

c. tdistribution with 201 degrees of freedom

d. tdistribution with 202 degrees of freedom

Since the population size is always larger than the sample size, then the
sample statistic

a. can never be larger than the population parameter

b. can never be equal to the population parameter

c. can be smaller, larger, or equal to the population parameter

d. cannever be smaller than the population parameter

The hourly wages of a sample of 130 system analysts are given below.

mean = 60 range = 20
mode =73 variance = 324
median = 74

The coefficient of variation equals

a. 0.30%

b. 30%

c. 5.4%

d. 54%

If index 7 (which is used to determine the locatlon of the pth percentlle) is not
an integer, its value should be

a. squared

b. divided by (n—1)

c. rounded down

d. rounded up
In the textile industry, a manufacturer is mterested in the number of blemishes

or flaws occurring in each 100 feet of material. The probability distribution
that has the greatest chance of applying to this situation is the

a. normal distribution

b. binomial distribution

c. - Poisson distribution

d. uniform distribution

The key difference between the binomial and hypergeometric distribution is
that with the hypergeometric distribution

a. the probability of success must be less than 0.5

b. the probability of success changes from trial to trial

c. the trials are independent of each other

d. the random variable is continuous

Only 0.02% of credit card holders of a company report the loss or theft of their
credit cards each month. The company has 15,000 credit cards in the city of
Memphis. Use the. Poisson probability tables to determine the expected
number of reported lost or stolen credit cards.

a. 4.03

b. 1.57

c. 3.0

~d. 5.0

Refer to problem 49. What is the standard deviation for the number of reported

lost or stolen cards?
1.73

o o'W
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17. Use Taylor expansion to estimate I & 5 to the 6" decimal place. 1096

1+x

18. Assume that your starting salary is NT$30,000 2 month and you get a raise of

$300 each year. 1096
a. Express the percentage of rate of change of your salary as a function of time. ¢ /

b. At what percentage rate will your salary be increasing after one year. 5%






